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QUESTION 1

Is this a reason that HPE Synergy is an ideal platform for containers? 

Synergy provides a container runtime embedded in the Synergy compute module firmware. 

A. Yes 

B. No 

Correct Answer: A 

Reference: https://assets.ext.hpe.com/is/content/hpedam/a00029815enn#:~:text=HPE%20Synergy%
20with%20Image%20Streamer%20is%20the%20ideal%20platform%20for,changing%20workloads%
20and%20business%20demands. 

 

QUESTION 2

When a Docker container is run from an image on a Docker host, is this how the container is deployed? 

If the image is not stored locally on the host, the image is pulled from Docker Hub or the registry indicated in the run
command. 

A. Yes 

B. No 

Correct Answer: A 

Reference: https://assets.ext.hpe.com/is/content/hpedam/documents/a00008000-8999/a00008645/ a00008645enw.pdf 

 

QUESTION 3

Is this a characteristic that a platform should provide to help it support and scale up database that supports both OLTP
and OLAP workloads? 

storage capacity optimized over storage performance 

A. Yes 

B. No 

Correct Answer: B 

 

QUESTION 4

A customer has an HPE FlexFabric data center network, which was working correctly. Then the customer added
VMware NSX, and now VM-to-VM traffic in logical networks is not being forwarded by the network infrastructure. 
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Could this be the issue? 

The FlexFabric switches are not configured with an expanded VLAN set to match the VNIs in logical switches. 

A. Yes 

B. No 

Correct Answer: B 

 

QUESTION 5

A customer has a Red Hat OpenShift Container Platform (OCP) solution. You suggest deploying HPE 

Nimble and the HPE CSI Driver. 

With this proposal, can HPE Nimble fulfill this role for the solution? 

Host images for the private registry. 

A. Yes 

B. No 

Correct Answer: B 

 

QUESTION 6

Is this a benefit of the HPE Nimble plug-in for vCenter? management of Nimble clusters from vCenter 

A. Yes 

B. No 

Correct Answer: B 

 

QUESTION 7

Is this a guideline for deploying HPE SimpliVity networks? 

The Storage network should have jumbo frames enabled (MTU of 9000). 

A. Yes 

B. No 

Correct Answer: A 

Reference: https://assets.ext.hpe.com/is/content/hpedam/a50000783enw 
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QUESTION 8

Is this a use case for using virtualization instead of a bare metal or containerized deployment? Simplifying workload
deployment using familiar vSphere or Hyper-V tools 

A. Yes 

B. No 

Correct Answer: A 

 

QUESTION 9

Is this a benefit of using the HPE OneView RESTful API to monitor and manage HPE infrastructure? customers can
issue API calls using their choice of programming languages 

A. Yes 

B. No 

Correct Answer: A 

Reference: https://h20195.www2.hpe.com/v2/getpdf.aspx/4AA5-8669ENW.pdf 

 

QUESTION 10

Is this a reason to use VVols on an HPE storage array to support a VMware vSphere environment? so that the array
can apply specific features such as replication at a VM-level 

A. Yes 

B. No 

Correct Answer: A 

Reference: https://h20195.www2.hpe.com/v2/getpdf.aspx/4AA5-6907ENW.pdf (7) 

 

QUESTION 11

A customer has a Microsoft Hyper-V virtualized environment. You are helping a customer replace some of the hosts
with an HPE SimpliVity cluster. 

Is this a correct guideline for adding and managing the new cluster? 

Obtain scripts from HPE to use with the HPE Deployment Manager with Microsoft System Center Virtual Machine
Manager (SCVMM). 

A. Yes 

B. No 
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Correct Answer: B 

 

QUESTION 12

Is this a correct principle for designing vSAN on HPE Synergy? The controller for drives should be in HBA only mode. 

A. Yes 

B. No 

Correct Answer: B 

Reference: https://assets.ext.hpe.com/is/content/hpedam/a50001917enw 

 

QUESTION 13

Could an HPE Composable Fabric solution meet the needs for this use case? 

The customer wants to be able to set up paths between data center racks using API-based scripting. 

A. Yes 

B. No 

Correct Answer: B 

 

QUESTION 14

A customer has a virtualized data center that uses VMware. The virtualized workloads include latency-sensitive
databases. You are considering proposing that the customer move the workloads to HPE SimpliVity. 

Does this correctly describe how well HPE SimpliVity can handle the latency-sensitive workloads? 

HPE SimpliVity helps to support low latency by localizing a VM\\'s data on both the node that runs the VM and a backup
node that runs the VM if the first node fails. 

A. Yes 

B. No 

Correct Answer: A 

 

QUESTION 15

Is this a reason to implement VXLAN on an HPE FlexFabric or ArubaOS-CX switch? 

to integrate with VMware NSX and provide wider support for tunneling between VMs and physical machines 

A. Yes 
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B. No 

Correct Answer: B 
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